
B

A

76717 www.tvilum.com  Rev. H   30-08-2023



X22-3 hr

READING GUIDE
+ ASSEMBLE ON A RUG
+ TIDSBEREGNING
+ HOW TO SEE POSITION 
NUMBERS ON PANELS

 767172 / 28



Ø5x30 mm
Ø0.2x1.18"

x200120203

Ø6,3x40 mm
Ø0.25x1.57"

x200120228

Ø3,5x15 mm
Ø0.14x0.59"

x200125233

Ø5,8x9 mm
Ø0.23x0.35"

x200126020

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x280131513

Ø0.59x0.37"
Ø15x9,5 mm

0131687 x28

M4x9 mm
M4x0.35"

x100126214

3.94x2.17"
100x55 mm

0194073 x1

Ø0.31x1.18"
Ø8x30 mm

0120209 x18

Ø3,5x35 mm
Ø0.14x1.38"

x20125244

Ø0.2x1.5"
Ø5x38 mm

0125604 x11

Ø6,3x27 mm
Ø0.25x1.06"

x70126033

25,4x9,5x13 mm
1x0.37x0.51"

x40133203

Ø1.1x0.83"
Ø28x21 mm

0181009 x5

M6x20 mm
M6x0.79"

x40162403

Ø0.55/Ø0.35x0.61"
Ø14/Ø9x15,5 mm

0122005 x4

38.39x0.63x0.24"
975x16x6 mm

0174456 x10141417

17x310/400 mm
0.67x12.20/15.75"

x10

M4x0.98"
M4x25 mm

0126234 x5

25 pcs

0.06x0.98"
1,4x25 mm

0123006 x2

 767173 / 28



470x474,5x15mm

08816

FJ

HI

JA

IA

LA

76162
76163

76162

KM

76158
76163

PE

08816

76159

KM

KM

KM

00719 x5

EE x5

03399 x5

07033 x5

00720 x5

x5

 x3  x2

 767174 / 28



470x474,5x15mm

479x48x32mm

76162 x2

479x48x32mm

76163 x2

496x397x3mm

07033 x5

614x479x18mm

JA

485x120x12,2mm

03399 x5

400x120x12,2mm

00720 x5

400x120x12,2mm

00719 x5

626x485x18mm

LA

626x485x18mm

IA

 x3  x2

 767175 / 28

BOX 1/2



470x474,5x15mm

614x48x32mm

76158

614x48x32mm

76159

518x93x18mm

PE

920x449x18mm

FJ

920x449x18mm

HI

518x70x18mm

KM x4

1003x268x2,5mm

08816 x2

514x159x18mm

EE x5

 x3  x2

 767176 / 28

BOX 2/2



Ø5,8x9 mm
Ø0.23x0.35"

x100126020 0141417

17x310/400 mm
0.67x12.20/15.75"

x5

0126020

2

0125233

*

4

0126020

1

0125233

*

3
Ø3,5x15 mm
Ø0.14x0.59"

x100125233 *

FJ

1

 767177 / 28

1



Ø0.31x1.18"
Ø8x30 mm

0120209 x4

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x50131513

FJ

 767178 / 28

2



Ø5,8x9 mm
Ø0.23x0.35"

x100126020 0141417

17x310/400 mm
0.67x12.20/15.75"

x5

0126020

2

0125233

*

4

0126020

1

0125233

*

3
Ø3,5x15 mm
Ø0.14x0.59"

x100125233 *

HI

1

 767179 / 28

3



Ø0.31x1.18"
Ø8x30 mm

0120209 x4

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x50131513

HI

 7671710 / 28

4



Ø0.55/Ø0.35x0.61"
Ø14/Ø9x15,5 mm

0122005 x4

M6x20 mm
M6x0.79"

x40162403

JA

JA

 7671711 / 28

5

6



25,4x9,5x13 mm
1x0.37x0.51"

x40133203

Ø0.2x1.5"
Ø5x38 mm

0125604 x11

Ø6,3x27 mm
Ø0.25x1.06"

x30126033

76159 / 76158
76163 x2

76162 x2

76159

IA

76163

76162

76158

76162 LA

76163

 7671712 / 28

7

8



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x80131513

Ø0.31x1.18"
Ø8x30 mm

0120209 x10

IA

LA

PE
KM x4

 7671713 / 28

9

10



Ø15x9,5 mm
Ø0.59x0.37"

x100131687 1 2 3

Ø15x9,5 mm
Ø0.59x0.37"

x40131687

HI

FJ

KM

PE

KM

KM
KM

LA

 7671714 / 28

11

12



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

Ø6,3x27 mm
Ø0.25x1.06"

x40126033

IA

JA

 7671715 / 28

13

14



1,4x25 mm
0.06x0.98"

x340123006

975x16x6 mm
38.39x0.63x0.24"

x10174456

08816

08816

 YY 

 XX 

XX = YY

 7671716 / 28

15

16



X2

  

1

3

  

2

25-08-2022 JTJA:
WARNING - LIFT FURNITURE WITH CARE

17 / 28 76717



Ø3,5x35 mm
Ø0.14x1.38"

x20125244

GG

GG

 7671718 / 28

17



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 1/3

19 / 28



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 2/3

20 / 28



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 3/3

21 / 28



/2823

3.94x2.17"
100x55 mm

0194073 x1

 7671722 / 28

18



?
30mm
1 1/5"

30
m

m
1 

(1
/5

)"

?
?

98

121110

7

654

321

17-05-2021 JTJA:
94009 tipover restraint guide
VERSION 1

Assembly guide.

23 / 28  76717



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x100131513

Ø5x30 mm
Ø0.2x1.18"

x200120203

EE x5

00720 x5

00719 x5

 7671724 / 28

19

20



Ø15x9,5 mm
Ø0.59x0.37"

x100131687

x5
EE

00719

00720

x5

07033

 7671725 / 28

21

22



Ø6,3x40 mm
Ø0.25x1.57"

x200120228

Ø1.1x0.83"
Ø28x21 mm

0181009 x5

M4x0.98"
M4x25 mm

0126234 x5

x5

03399

x5
 7671726 / 28

23

24



x3

M4x9 mm
M4x0.35"

x100126214

3

21

EE

EE

EE

EE

EE

 7671727 / 28

25



MAX

lbs

kg

XX
XX kg

lbs
XX
XXlbs

kg

13
6

lbs

kg

55
25

28 / 28 76717© TVILUM A/S 2018


